
Name:_________________________ Date:___________________

Rewrite vertically and solve.

62 + 16 = 78

Rewrite vertically and solve.

80 – 26 = 54

Rewrite vertically and solve.

28 × 6 = 168

Rewrite vertically and solve.

75 ÷ 2 = 37.5

Find the sum.
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Name:_________________________ Date:___________________

Rewrite vertically and solve.

79 + 27 = 106

Rewrite vertically and solve.

83 – 15 = 68

Rewrite vertically and solve.

29 × 7 = 203

Rewrite vertically and solve.

31 ÷ 5 = 6.2

Find the difference.
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